

**A SIMPLE PROOF OF THE DISCRETE  
STEFFENSEN'S INEQUALITY**

ZHENG LIU

It was first given in [1] and then cited repeatedly in [2]-[5] the following discrete Steffensen's inequality:

**Theorem.** Let  $(x_i)_{i=1}^n$  be a nonincreasing finite sequence of nonnegative real numbers, and let  $(y_i)_{i=1}^n$  be a finite sequence of real numbers such that for every  $i$ ,  $0 \leq y_i \leq 1$ . Let  $k_1, k_2 \in \{1, \dots, n\}$  be such that  $k_2 \leq \sum_{i=1}^n y_i \leq k_1$ . Then

$$\sum_{i=n-k_2+1}^n x_i \leq \sum_{i=1}^n x_i y_i \leq \sum_{i=1}^{k_1} x_i. \quad (1)$$

It should be noted that the proof of this theorem in [1] states as an application of a generalized Steffensen's inequality over a general measure space to the discrete case which seemed as if it is not quite clear. The purpose of this note is to give a new proof which is very simple and clear.

**Proof.** The proof of the second inequality in (1) goes as follows.

$$\begin{aligned} \sum_{i=1}^{k_1} x_i - \sum_{i=1}^n x_i y_i &= \sum_{i=1}^{k_1} (1 - y_i) x_i - \sum_{i=k_1+1}^n x_i y_i \\ &\geq x_{k_1} \sum_{i=1}^{k_1} (1 - y_i) - \sum_{i=k_1+1}^n x_i y_i \\ &= x_{k_1} (k_1 - \sum_{i=1}^{k_1} y_i) - \sum_{i=k_1+1}^n x_i y_i \\ &\geq x_{k_1} (\sum_{i=1}^n y_i - \sum_{i=1}^{k_1} y_i) - \sum_{i=k_1+1}^n x_i y_i \\ &= x_{k_1} \sum_{i=k_1+1}^n y_i - \sum_{i=k_1+1}^n x_i y_i \end{aligned}$$

---

Received March 27, 2003.

$$= \sum_{i=k_1+1}^n (x_{k_1} - x_i)y_i \geq 0.$$

Similarly, for the first inequality in (1):

$$\begin{aligned} \sum_{i=n-k_2+1}^n x_i - \sum_{i=1}^n x_i y_i &= \sum_{i=n-k_2+1}^n (1 - y_i)x_i - \sum_{i=1}^{n-k_2} x_i y_i \\ &\leq x_{n-k_2+1} \sum_{i=n-k_2+1}^n (1 - y_i) - \sum_{i=1}^{n-k_2} x_i y_i \\ &= x_{n-k_2+1} (k_2 - \sum_{i=n-k_2+1}^n y_i) - \sum_{i=1}^{n-k_2} x_i y_i \\ &\leq x_{n-k_2+1} (\sum_{i=1}^n y_i - \sum_{i=n-k_2+1}^n y_i) - \sum_{i=1}^{n-k_2} x_i y_i \\ &= x_{n-k_2+1} \sum_{i=1}^{n-k_2} y_i - \sum_{i=1}^{n-k_2} x_i y_i \\ &= \sum_{i=1}^{n-k_2} (x_{n-k_2+1} - x_i)y_i \leq 0. \end{aligned}$$

**Remarks.** (i) It is not difficult to find that the first inequality in (1) can also follow directly from the second one upon consideration of  $(1 - y_i)_{i=1}^n$ . Since for every  $i$ ,  $0 \leq 1 - y_i \leq 1$  and  $n - k_1, n - k_2 \in \{1, \dots, n\}$  be such that  $n - k_1 \leq \sum_{i=1}^n (1 - y_i) \leq n - k_2$  imply that  $\sum_{i=1}^n x_i (1 - y_i) \leq \sum_{i=1}^{n-k_2} x_i$  and consequently  $\sum_{i=1}^n x_i y_i \geq \sum_{i=n-k_2+1}^n x_i$ .

(ii) In fact, the Theorem can be restated in a more general version as follows: Let  $(y_i)_{i=1}^n$  be a finite sequences of real numbers such that for every  $i$ ,  $0 \leq y_i \leq 1$ . Then  $k_2 \leq \sum_{i=1}^n y_i \leq k_1$  is a necessary and sufficient condition for inequalities (1) to hold for all nonincreasing finite sequences  $(x_i)_{i=1}^n$  of nonnegative real numbers, where  $k_1, k_2 \in \{1, \dots, n\}$ .

## References

- [1] J.-C. Evard and H. Gauchman, *Steffensen type inequalities over general measure spaces*, Analysis **17** (1997), 301-322.
- [2] H. Gauchman, *Steffensen pairs and associated inequalities*, Journal of Inequalities and Applications **5** (2000), 53-61.
- [3] H. Gauchman, *A Steffensen type inequality*, Journal of Inequalities in Pure and Applied Mathematics **1** (2000), Art.3.
- [4] F. Qi, J. X. Cheng and G. wang, *New Steffensen pairs*, Inequality Theory and Applications **1** (2002), 273-279.

- [5] F. Qi and B. N. Guo, *On Steffensen pairs*, J. Math. Anal. Appl. **271**(2002), 534-541.

Institute of Applied Mathematics, Faculty of Science, Anshan University of Science and Technology, Anshan 114044, Liaoning, People's Republic of China.

E-mail: lewzheng@163.net